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@ sin0° = cos0° = tan0°

© sin45° = cos45° = tan 45°
© sin90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

@ sin0° = cos 90° = tan 90°
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Sin 45° = cos 45° = - tan45° =
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Z\*E‘ sin l cos
25° 10,42 0.90| 0,46
50° 10,76 0.63 1,19
70° 10,93 0.34 | 2.74

tan

cos 50° + cos 25° X sin 50° — tan 25°
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(F4]) = 0.63 + 0.90 x 0.76 — 0.46
= 0.63 4 0.684 — 0.46 = 0.854
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74° 0.96 0.28
75° 0,96 0.26
76° 0.97 0.24
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(C = 75° °|B2 cosT5° = 2 = 0.26, sin75° = 2 = 0.96
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BC=CD= V3 (cm
AABC & AZZrgoln=2 /ACB =30°

AB = V3tan30° = V3 x =1 (cm)
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